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“ RBW 100 kHz
* VBW 300 kHz

Marker 1 [T1]
88.69 dBu \

Ref 107 dBuv “Att 10 dB * SWT 100 ms 2.407320000 GHz
ndB [T1] 20.00 dB
L100 BW__1.400000000 MHz
Temp 1[T1 ndB]
68.47 dBp v
t9o : 2.406440000-GH
Temp 2[T1 ndB]
68.75 dBu v
80 2.407640000 GHZ
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Center 2.407 GHz 1 MHz/ Span 10 MHz
* RBW 100 kHz Marker 1 [T1 ]
* VBW 300 kHz 87.50 dBu \%
Ref 107 dBpVvV * Att 10 dB * SWT 100 ms 2.476700000 GHz
ndB [T1] 20.00 dB
| 100 BW __2.020000000 MHz
Temp 1 [T1 ndB]
67.47 dBu \
L o0 1 2 474 486060-CH
Temp 2|T1 ndB]
67.46 dBu \
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Center 2.477 GHz 1 MHz/

Span 10 MHz



